N = Ol & A

=

Al A

e olEEsl (er9): &)
S - I BR(3) - AIRAR - BaS oty e ezl
sHH 4,776,197 2,994,328 1,781,869
= 258,230
Il 6,400
= 149,003
[ 4,362,564
HY2AZH|(SZAAMD) 37,940 39,140 21,200
Jl=&l 33,740 34,940 21,200
Jl=&H 33,740 34,940 21,200
201 LEH=2 ] 22,940 24,140 21,200
01 AtR2t2|H] 20,440 21,260 AB20
O get=H| 15,400
0 JIZARES 100,000& %2421 2,400
0 AFRID & SAES 12,000,000 12,000
0 JIEt=24| 1,000,000 1,000
O SEHI(SZAYULRF)
7,0003%24021x30 5,040
02 S32gH| 2,500 2,880 A380
O SS2aZHA 2,500
0 RERS S 2,500,000 2,500
202 Ol 10,800 10,800 0
01 U0l 10,800 10,800 0
O &2odl(3S34l) 180,000 x55 &+ 123 10,800
lE2AI 4,200 4,200 0
el 2| 4,200 4,200 0
203 BR=LH 4,200 4,200 0
04 ENESS LR 4,200 4,200 0
ORAN=gHRFH 350,000& = 12 4,200
S23ES 331,732 202,699 129,033
= 73,500
= 15,000
= 243,232
2#EES 155,232 155,199 33
SEES LB 117,649 119,827 A2,178
101 21244 26,784 27,092 A308
04 JIZtHI22 XS E 26,784 27,092 A308
O &2,5td8 M|+ Hel2Y
44,6403 %2001+302 26,784
201 fEeL= | 52,215 46,485 5,730
01 At2t2|H 33,815 24,385 9,430
O Ze+=8H| 32,315
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S A
K| ZH -
(=

&l

HT HT 40
foi for 0z

o rion rion
oY OX 0¥

M
]
r
0

S - - BREH) - MRAR - BaS of vt o HI DS
0 THOIHHE AIESTHF =2 100,000&10A 1,000
0 ASA iEtA R Y
55,0002 *50H 275
0 ASIHEINL R2EE A257Y
4,0003+25)H*55 500
0 SEHI(EZEXER) 7,000 +621x70 2,940
0 Xz 27,600
o B LU 400,000 *22] 800
o MEMD| SYHZAl Jtbilet 2 26,800
- JIE 150,000& %1000 A% 12 18,000
- &R 220,000 #4012+ 10 8,800
O BIENAZFED| SMte2E 150, 000& 22 300
O BIENAZFED| ABIIATY
200,000& *22] 400
O MHASZEEH| A= 400,000& *12] 400
O HAHICIREEEH A8
400,000 %12} 400
02 S32gH| 18,400 22,100 23,700
O s=moI=2gat(2adl 2 H3ldl)
2,300,000 2,300
O daMgd] 28 FI| APt 16,100
0 XD SHSI| Jiict d8Ad=
35,0002+ 17CH* 123 7,140
0 X201 EYSI| Jtolet AESER2 (&)
35,0002 *4CH* 102 1,400
0 MelD] S Y| CCTVItHIeH RAI2 =
90,000&7CH~12 7,560
202 04l 14,400 12,000 2,400
01 2] 14,400 12,000 2,400
O SZE2dgRP+=d04t| 200,000 +621x12& 14,400
203 g2l 4,000 4,000 0
03 AIZF=AIHI Y| 4,000 4,000 0
O BATNHTYREX U FEUHL2S
2,000,000 2,000
O SEIIZAEHRFA 1,000,000 1,000
O Jl=d3a gf=d 1,000,000 1,000
206 =4 1,200 1,200 0
01 H=H] 1,200 1,200 0
O e, tAFE)| 23578 300,000&*25 600
O CO/HC EEIHATY 300,000 *27H 600
301 et A= 8,550 8,550 0
11 JIEt2a= 8,550 8,550 0
O Sgde A 24 1,350
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SN BEIIMD
B SHEs
29 8325 (Sr9): 1)
SA - FE . S9(B1) - HRAIY - BAS O bt e HlmE2
O FIREEES] 50,0002 1021 500
0 18185 ARSI 35,0002 1021 350
0 BAUMS MTT BA  50,0002510! 500
O M3J| BEH LAY BS2Y
40,0002 1501 122 7,200
401 NEBIZL 2] 10,500 20,500 10,000
01 AIZHI 10,500 20,500 10,000
O MBMED| SHE)| 2EILHE &5
350, 000243074 10,500
SBRNHRLD 20 B 37,583 35,372 2,211
101 Q1 24H] 9,821 9,170 651
I EEDU=LES 9,801 9,170 651
OBBNHLLS LU AES TARIRY
=T 4464085117 A% 102423 9,821
201 Ler2gy| 24,762 23,202 1,560
01 A2l 9,306 9,306 0
Ogurg| 9,306
0. BAMHRLZ DXM X
70,0002 * 20AT * 23] 2,800
0. BAMHSLLD MM WX
70,0002 * 104K * 33l 2,100
0. DATYUES)| ARE PRI(EH)
350,002 * 3 1,080
0. BAWHRLZ SIIUR U HHHHE
3,000 * 250 21 750
0. BAWHSLLS S0 B2 ELSHE
502l * 5,0000H 250
0. BAMHRLS SDOHY B4oHRIE
55,0002 * 6 Off 23l 660
0. AT ArBSSE 802 * 10,00021 800
0. USOIH AMBL4E 502 * 10,0001 500
0. MSOIMKIZ4+48 33,0002 * 122 3%
02 222 15,456 13,89 1,560
0ZZ23 % AA 15,456
0. BAMHRLZ DXN 2 15,456
0. IXIM(FII=)
2702l * 10,00004 * 23! 5,400
0. IXM(HEE) 2702 * 8,00004 * 43 8.640
0. YRUDEXIM(SII)
1,7702 * 20004 * 43] 1,416
202 018 3,000 3,000 0
T CE 3,000 3,000 0
OBZMNHRLD AMS ZA L ALS X
= 100, 00021301+ 102 3,000
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SA: RN
o #YS5
S HPIECERTE EERED
. , - PSEL= =
A -3 - SRA(ZH) - MRAY - BES Ofl &tk Ol] AkoH HwE2
JECENE 55,000 44,000 11,000
= 27,500
= 6,000
2 21,500
SOEIEIEESET 15,000 14,000 1,000
2 7,500
2 7,500
201 LBr2| 9,440 9,000 440
2 4,720
2 4,720
01 AR 22l 8,000 6,000 2,000
O Jeleid 2% 2 SK 8,000, 0002 8,000
2 4,000
2 4,000
03 A2 1,440 3,000 A1,560
O g2l 2% HAXE 1,440,002 1,440
2 720
2 720
301 LerR A 560 0 560
2 280
2 280
11 JIEr2 a2 560 0 560
O JI3pist 22 &4 22 25
40,00021+7 %2 560
2 280
= 280
307 BI2t0IF 5,000 5,000 0
2 2,500
2 2,500
02 DI B HAIEE 5,000 5,000 0
O Jeleld 29 X 5,000,002 5,000
2 2,500
= 2,500
EATOIEN K& 40,000 30,000 10,000
= 20,000
= 6,000
2 14,000
301 LBHR AL 40,000 30,000 10,000
=2 20,000
= 6,000
2 14,000
11 JIEr2 a2 40,000 30,000 10,000
OBATQIEN QIMEIE X2 40,000,0002 40,000
= 20,000
< 6,000
2 14,000
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S A
K| ZH -
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&l

0
T
[pal
0

S - BB () - HRAY - BaES

Sl

[yl

ol &k

HIWES

0

Ao A

118,000

46,000
9,000
63,000

118,000

AW

114,000

44,000
9,000
61,000

114,000

Ao A

114,000

44,000
9,000
61,000

114,000

H(20H2) 14,000,000&

100,000,000

EURIY

H

114,000

100,000

30,000

9,000
61,000
14,000

14,000

114,000

H A

4,000

2,000
2,000

4,000

H

4,000

2,000
2,000

4,000

= 4,000,000&

MW

4,000

4,000

2,000
2,000

4,000

3,500

3,500

3,500

3,500

3,500

3,500

2= MA

100& = 45 » 2,5000H
20,0008 » 503
15,0002 * 10094

3,500

1,000
1,000
1,500

3,500

o O O O

N X

414,291

75,000
6,400
85,500
247,391

256,932

157,359

S

70,198

6,400
63,798

97,402

N27,204
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A ESZEAM
Az X8 25
o XANHEEEN (S &8)
5 - - HEE ~
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
KASABMAIE =R 60, 198 47,402 12,796
101 e1Ad| 21,783 17,447 4,336
04 J12tNI2EXNSE 21,783 17,447 4,336
OXHES Y FREAX| 2208 21,783
07123 44,6403 %121x 18I Ax20 16,071
0 =x=Y 44,6403 %101%18JH A *4 3,215
0 AHHEE 19,286,000 *4% 772
0 AEE 19,286, 000& *3.035% 586
0 1EEE 19,286,000&*1.3% 251
0 =012 19,286,000& %4 . 5% 868
0 ERIZED|IQAEE 586,000& *3.275% 20
201 LeH23Y| 15,875 10,535 5,340
01 AtR2t2lt| 10,285 7,285 3,000
Ogtt=2| 6,655
0. QX A0 HIE 66,0002 *30JH A 1,980
0.F8eX| ZANHE EES0IY
100 & *2Z+*3,0000H 600
0.73X & BasHE
100, 000& *5JH A 500
EHAED 2 5,000&*55* 130 A& 325
0.82E 3I&X 2
50,0003 32 A %130} A 1,950
0.3t&Al2e| & FX| 100,000 * 131 A 1,300
O===)| LlHEXIS TI=H| XI&
120,000& * 25¢ 3,000
O=2aky) 630
0 SHH(FQEHEAN AE22X S4!)
7,000&*301% 30 630
02 35234l 5,590 3,250 2,340
O=s32=2 ¥ MAl 5,590
0.2=8D| OM=S= moEXIE 201
130,000 *25H 3,250
0. TAX =8 S HelZ&t 201
130,000& * 33| * 62l 2,340
202 (44| 1,200 2,400 A1,200
01 2| 1,200 2,400 A1,200
OHSEMHA ST RFEIYI
20,0003 *621x 10 1,200
206 = H| 10,340 1,340 9,000
01 M= 8 10,340 1,340 9,000
ONMESEESE YdH*E1L 8,000&*305 240
O=&D| X & 9,500
0. &E 15,0002 2501+ 128+ A 4,500
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S BESIMD
Hu: qoIEE 25
ciel: TeERes (el &2
- _ _ PlEL=
SN - B - SR(SH) - NRAY - BES ofl by il Aron ElmE==T
0. &= =54l X& 200,000& = 25¢! 5,000
OSHI| oSS 24012 300,0002%25 600
301 Let2a=g 4,000 5,680 21,680
09 HAMHIEAS 4,000 4,000 0
OXeILs CATUS BHD
50,0002 *4021*12] 2,000
OXEENEA DREA
50,0003 *10Q!+x2 1,000
O=sMBHATS| &N S 50,0002 *20€! 1,000
307 QI2t0| A 7,000 10,000 23,000
03 RIRIHHEE2FHI =X 5,000 5,000 0
OXgEsEels KA 5,000,000& 5,000
04 BIZIHAIAIRHE X 2,000 0 2,000
O399 & =ZSSHAXA 2,000,000 2,000
ANASHE SR 10,000 10,000 0
Il 6,400
i 3,600
301 LEIBAS 10,000 10,000 0
| 6,400
i 3,600
09 HAIMHIE A= 10,000 10,000 0
OstZ2Me s 10,000,000& 10,000
| 6,400
i 3,600
OrisAlE28s 2| 344,093 159,530 184,563
= 75,000
& 85,500
= 183,593
Ords=S sHE 24 30,000 38,380 28,380
= 15,000
& 10,500
fia 4,500
301 Let2A=g 30,000 38,380 28,380
= 15,000
& 10,500
i 4,500
N JIEtE A= 30,000 38,380 28,380
OltsES=sHESlINEa 3 30,000,000 30,000
= 15,000
& 10,500
i 4,500
O SZIIoHOI ALY 163,000 121,150 41,850
= 60,000
L= 30,000
= 73,000
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SA: ERRAMDL
Ha: Tjeisy 25
ol ORUSAIZES YL (Er9): &)
. PSEL =
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
202 O1H| 1,000 1,000 0
NENKE] 1,000 1,000 0
OOMMES TIGHOIZAIIE 201 1,000,002 1,000
402 DIRIXHZOIF 162,000 120, 150 41,850
= 60,000
= 30,000
2 72,000
01 BRIEAEEE 162,000 120, 150 41,850
OOMY S SIITHOIL Al LRI
80,000,000 * 90% 162,000
=2 60,000
= 30,000
2 72,000
ZEAEY 29 151,093 0 51,093
= 45,000
2 106,093
101 Q1218 60,848 0 60,848
= 18,079
2 42,769
04 IRIN2ENEE 60,848 0 60,848
Oegiags F+252 ole 60,848
00122 44,6402 * 1791 * 622 47,051
= 18,079
2 28,972
0. FRH4G 44,6402 * 1791 * 92 6,830
040282 53,880,480 ¥ * 12.93% 6,967
201 B2 ] 59,245 0 59,245
= 17,621
2 41,624
01 AFR22IH] 43,645 0 43,645
Oeslss W S22 N
10021 * 5,00004 * 3% 1,500
= 450
2 1,060
O=#4+BY +OHH BT
1,5002 * 2,00004 3,000
= 90
2 2,100
O=g4sd 2B NSHE
1,5002! * 1,30004 1,90
= 585
2 1,365
Oeg=BE oY 840t M
55,0002 * 500 * 11744 3,025
= 908
2 2,117

_408_




A RS
M Iged Es
Pl OrdSAESESH 2 (et &)
S - - BREH) - MRAR - BaS of vt o HI DS
Ocsras %8 0= oy
1,200 * 8500H*35 3,060
= 918
i 2,142
Oe4im AQE (I 2)7e
3,000,000 3,000
& 900
[ia 2,100
O=g¢ol 22X+ 10,000& * 1,2000H 12,000
= 3,600
e 8,400
Ozg+gd 2253 S857(X,288)
30,0002 * 17 510
OABIOILIBA DOIAH| AIABIST U 442
1,300,000& * 574 6,500
& 1,950
= 4,550
OZJ| ¢AlE 2 IS 1,500,000 1,500
= 450
2 1,050
ORBLYT AT SANS
7,000 * 15¢! » 60 6,300
[ 1,890
o 4,410
oguz 1,300
0. S22 Ao =A 20 1,300,000 1,300
= 390
e 910
02 SE=3H| 15,600 15,600
OLESBET & BRIl
12,0008 * 1,300& 15,600
& 4,680
= 10,920
401 AlEHIYL S| 31,000 31,000
= 9,300
= 21,700
01 Al£H] 31,000 31,000
O&&gd AdUEXIT(3IS)
15,000& = 600K 9,000
= 2,700
o 6,300
O=g+gd IAHENE (=Y, =8)
30,0003 = 200044 * 28 12,000
= 3,600
= 8,400
Oz=gt+8% ZHO0IHZA HIIAE
3,500,000 3,500
= 1,050
o 2,450
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SA: BRI
Hu: NoiEy 25
CHol: OHMSAZRSURL (S92
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HlnsSZ
SEEV[EEESESIPIEIPERY
1,300,0002! * 5744 6,500
= 1,90
2 4,550
2322l 101,770 41,660 60, 10
= 7,800
2 93,970
2zl 73,770 15,660 58,110
+H2YYREZ 13,770 15,660 A1,89
201 LBr2 | 6,570 6,060 510
01 AR 22l 4,410 3,900 510
Ogetgt| 2,940
0. XISH-XIBAI| OHAZ RIZ
3021+4,00052+23] 240
0. FRIR AR ER QHAZ RIZ
100,0008! * 10744 1,000
0.4l Y| 50,0008 + 123 600
0.ZRAIZHSY 2Y 1,100
021 7,000 * 1007H 700
012 4,000 * 10074 400
OSZHI(FHBALDFE)  7,0002301+702 1,470
02 ZZ2H| 2,160 2,160 0
OZ222 2 WA 2,160
0.F0IXI2 MZRIAAIHE| OIMBA 2 (
S21) 1,702 * 1,10021 1,047
0. X542 LER2 213
0S 7l 1,702 * 1021 * 122 213
202 08| 7,200 9,600 12,400
01 =00t 7,200 9,600 22,400
O«HB2IYR4S0H  200,00020301+ 128 7,200
HBZE MY A2D| THAY 60,000 0 60,000
401 Al ZHIL2TH| 60,000 0 60,000
01 Al 59,460 0 59,460
OZ& MY a21)] LMY 59,460,0002 59,460
03 Al SCHY| 540 0 540
OB MY a2ID| LMY 2OHY)
60,000, 00021 * 0.90/100 540
Xst=Rx2e 28,000 26,000 2,000
= 7,800
2 20,200
NSHHZ 2427 28,000 26,000 2,000
= 7,800
2 20,200
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A M
S 2
2. XISt K22 CERE)
S M =
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH lOﬂ/l\_l'o” Hlus2
401 AIZHILE0HY| 28,000 26,000 2,000
= 7,800
iy 20,200
01 Al&bI 28,000 26,000 2,000
ORIt AEIZTAN & HBA=F
28,000,000& 28,000
< 7,800
iy 20,200
2=ZEIHA 726,942 504,713 222,229
= 101,000
= 30,440
iy 595,502
sSENE=2H 2] 525,342 375,113 150,229
= 200
T 200
iy 524,942
TASHFEH 24,562 22,917 1,645
101 2124d| 536 501 35
04 JI2tHIZ22XsSE 536 501 35
OLEQHAID SHHIZN ol222]
44 6403 *621%23] 536
201 Let2HY| 9,626 10,416 AT
01 AtR2t2lH| 8,006 8,796 AT90
OgBt=2H| 5,556
0.2 AID SHEE P2
100,000 *108F A 1,000
0.2=EQUAILD LFEHA =22
100,000 *10A4 1,000
0.2=0IK &BAE
14,800& * 20H 296
0.XI8HDIE 2485 100, 000&*53] 500
0. Hatx Tz xzel
230,000& * 128 2,760
OSH(SEXN T PL2=H)
7,000 %501%70 2,450
02 35234l 1,620 1,620 0
o232 % HA 1,620
0. HatX HAQHN RERS
270&*x5000H* 128 1,620
202 4d] 14,400 12,000 2,400
01 2ZLHMY] 14,400 12,000 2,400
OJ|2gR3Hoid| 14,400
0.8RAXE=H2 £304d|
200,000 #501x12& 12,000
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SN BAAMD
B ST
el SN eERe) (erl: &g
. , - PSEL= =
SA - FH - S2(33) - MPAY - BAS aro Gl Arod F{ImE=ST
E=EESEEEEESSE]
100,000& %201+ 12& 2,400
St 475,380 351,796 123,584
201 Le+24gH| 28,900 29,740 2840
0T Al 22| 21,700 22,540 AB40
Ogt==H| 21,700
0.BESEA 2LANHR
35,0002 *7001 2+23] 4,900
0.2E3T4 HOISETY(YHHS)
30,000& #7091 423 4,200
0.2E5EA ENTL
70,000& = 70002 * 23] 9,800
0.2E5EA AAWAT HX
10,0002 7070 £ 700
0.2E5EA A2 HXI(HOEAIR 25)
7,000&*1000H*3& 2,100
02 2324 7,200 7,200 0
Ozzez 2 HAl 7,200
0.255EA ®I23
40,0002« 1501 2+ 128 7,200
307 21240/ 176,400 0 176,400
05 BI”IRAEZ 176,400 0 176,400
O==sE4a 72t 210,000 *70JH 2+ 123 176,400
401 AlEHIYLLOHY| 270,080 147,000 123,080
01 AlZHI 270,080 147,000 123,080
OZ3sataE4 &X 200,000
0.4% |REA= 70,000,000& 70,000
0 4T BF USHZT 60,000, 0002 60,000
0.4 24904t 70,000, 0002! 70,000
OBZsFA N BA(HEBL)
20,000,000& 20,000
Oz 0IstEa Al 4,000,000 * 34 12,000
OTZoTA FUI(AR24H)
272,000& = 70002 » 23] 38,080
B0 AHE 2 400 400 0
2 200
< 200
301 Let2a=g 400 400 0
= 200
= 200
09 HAMHIEAS 400 400 0
ORIZHBHZIAIE B4 A 400,0002! 400
= 200
= 200
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=

0
0
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0

S - ZB . CRI(EI) - HIRAY - BES

=
12

HE

[yl

ol&rey

HIWES

0

HAZ2LHeIAL 29

25,000

25,000

207 AN EH]

10,000

10,000

01 2229

OH=+=SZ XA ItEAL S
10,000, 000& 14!

10,000

10,000

10,000

405 XHokE

=il

15,000

15,000

=

01 L SEFS
2

Al BOOSHEH| R (25)

®
iy
UA

15,000,000&

15,000

15,000

15,000

5")
e
o
O
o
()
Il

M

201,600

100,800
30,240
70,560

1

29,600

72,000

S20IE XMl XEAMS(EER)

M

201,600

100,800
30,240
70,560

1

29,600

72,000

H

201,600

100,800
30,240
70,560

1

29,600

72,000

201,600,000

M

201,600

201,600
100,800
30,240
70,560

1

29,600

72,000

e

HH

2,189,235

5,657
7,863
2,175,715

1,347,691

841,544

AH

MEMPYD| 2t

H

2,189,235

5,657
7,863
2,175,715

1,347,691

841,544

AW

60,000

5,657
7,863
46,480

60,000

H W

60,000

5,657
7,863
46,480

60,000

100& = 600,000kg

H

60,000

60,000
5,657

60,000

- 413 -




SA: SN
M MEHD|IS2
ol MEtMYD] 2] (e ®d)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
= 7 863
= 46,480
MEMED] ==H 200,918 169,840 31,078
101 14| 95,723 88,525 7,198
04 JIZtHI22ASE+ 95,723 88,525 7,198
O SHADIAI HA2 91,101
07123 44 6403 #621x2492 66,693
NS 44,6403 +621+52 13,928
04012 = 83,834,0002*12.5% 10,480
O oH&)| d=td =REEH 4 JY| eI 4,622
02122 44,6403 x221+44 3,929
=g 44,6403 #201x2 179
0402 = 4,108,000 *12.5% 514
206 H=H| 97,470 73,590 23,880
01 M=Hl 97,470 73,590 23,880
O SN =sSH= 91,970
0 28r2(3¢) 242 x20,00004 480
0 28r2(5¢) 292 x20,0000H4 580
0 28tE(104) 36250, 00004 1,800
0 2EHE(104 ) (HALE) 382 10,0000 380
0 28rE(2014) 56&*120,0000H 6,720
0 LBr=(204 ) (KHALR) 582 20,0000 1,160
0 28rE(5014) 121380, 00000 9,680
0 2EH=2100 £ OFCH(PPIECH) 5502 *120,0000H 66,000
0 332(100¢£ PPIECH) 5502 *5,0000H 2,750
0 338501 ) 121&20,0000H 2,420
O 2848 MYDISENR 5,500
0 8al=2 3L 29&*50,0000H 1,450
0 8&l= 5L 34250, 0000 1,700
0 342 10L 47-2*50,0000H 2,350
301 LEIEAZ 7,725 7,725 0
09 HAAHIEAS 1,725 1,725 0
O HEASARLAUE2HEE EHAIZ HlwAS
75,0003 %23¢2! 1,725
1 IIEt2A3 6,000 6,000 0
O HEBE +Z243 2 Fei3
20,000,000&*30/100 6,000
HOI233HM2IAME2S 1,928,317 1,117,851 810,466
101 21244| 83,817 172,848 89,031
04 JIZtHI2 2R S E+ 83,817 172,848 A89,031
L2229 o2 18,171
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SN BRI
g dEmDIs2el
Chel: MEMYD| B (erl: &g
S - P BR(3) - HIRAIY - BAS o sty o HI DS
0JI2= 58,900 «521+382 11,191
== 58,9002 x501x9 2,651
0 ORI22+¢ 3,6903+8A|2Hx201%382 2,244
0 4028 = 16,675,000&*12.5% 2,085
O US| & dEHY IFY 45,350
0J1=2s 44,6403 %3Q1%2492 33,347
0 F=Xt=& 44,6403 +321x522 6,964
0 42 = 40,311,000&%12.5% 5,039
O SZEHIISSEXCIAE F=2ZAIRAFY 15,721
0 JI2= 44,6403 %1Q1%2492 11,116
0 =x=< 44,6403 +1Q1+52 2,322
0 HXt=& 44,6403 %101x12& 536
04028z 13,972,000&*12.5% 1,747
O NHgd =8 g2y 4,245
0JI2= 49,0003 *121x62 3,038
0 =Xt==¢ 49,000 121x12& 588
0 Hxt==g 49,0003 x1Q1+3 147
0 4028 = 3,773,000&*12.5% 472
O MHEHHAZESAL He -1l
66,0003 +521x1= 330
201 deh=2 | 561,234 510,845 50,389
01 At22teld] 79,479 120,116 N40,637
O 2gt=8H| 69,229
0 HesSdEd 29 1,365
o AZEMA 1502 +3,0000K 450
o Z&JI 300,000& *22] 600
o IEFY 63,0002 «5H4 315
0 PLIHIANAY =2 4,714
o MEE&1 154,000& 128 1,848
o OHE& 193,000& 122 2,316
o A& 275,000 +2& 550
0 &ojetdze| s 3,243
o UHE&H 185,200 123 2,223
o A& 509,790&*2& 1,020
0 A212 DDA RSS2
289,000& *22] 578
0 HEE =E2dAe=2 9,010
o BEES 376,200 %43] 1,505
o HEUFs 376,200 %122 4,515
o Xot=Z3ArE 186, 780& 304 242 2,242
o SISHHMIAIE 186,780 = 43| 748
0 AIZESSHEE A== 28,426
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0 Nat&ZAIE 151,58021%243] 3,638
o X Q™G AAb 1,650,00024 %30 4 4,950
HIATH PIEER2IH] 195,600+ 13€ 2,543
FOUSSANLES(HIFS) 7Y
2,000 *55*2007H 2,000
0 HASZTU(FZ,0123)
330,000 %125 3,960
0 NE2E 237(0tL, %el)
10,0002 1055453 2,500
0 A2UF 2LH2INL BL 248
250,000+ 13 250
0 WX BE4 SUTFT 4
2,500,008+ 13 2,500
0 A2AF BESHEE L
1,500,002+ 13 1,500
0 MHIZZEHIY SHSETU(LEIT)
80,0002 125+53] 4,800
0 HOIS(Hso)RSMel +48
500,00024*13] 500
0 A2 7Y 67,0002 %200 1,340
O SHI(BBALLRFN)
7,0008+701x70 3,430
O T=t| 830
0 orX5} 60,0002 82115 480
0 Xes 50,00021+821* 1%t 400
O gxz 5,940
0 SEX 28 660,000 +3CH+33] 5,940
02 SZ2%H| 481,755 390,729 91,026
O 22322 ¢ HAl 163, 174
0 2242 QS 11,702,008 122 140,424
0 sSEHIISSEH2ANE RS
1,711,300 * 122 20,536
0 IDIAISSRIEEAIIQS
17,4302 122 210
0 RRANBE2NYE M3
167,000+ 128 2,004
O ozt 11,814
0 AAR2H 1,856 +2,800 £ *25] 10,394
0 AFRAILEE A 1,4202+500 £ x20H 2 1,420
O ASZHISTHI 102,200
0 222 List2 Wil 1,800,000 * 12 21,600
0 A2tF SIHAXISI0I2E WA
2,200,000 %2} 4,400
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0 A22 WEH WXl 300,000 * 1444 43,200
0 22 AL Wi 500,000 & *46m" 23,000
O XrE&EH| 189,000
0 *FMH 1,500,000 x9CH* 123 162,000
0 RAIE= 250,000 x9CH* 123 27,000
O =41 14,016
0 =0 1,856 %500 £ x 123 11,136
0 SRIE=H| 120,000 x2CH* 123 2,880
O XA 1,551
0 7= 1,85621%40 ¢ x12& 891
0 |SXE=4| 55,0003+ 1CH*12& 660
202 Ot 16,800 19,200 A2,400
01 =LHOHI 16,800 19,200 A2,400
O SZALLReH0| 200,000 *721x 123 16,800
206 H=H| 100,253 135,951 A35,698
01 MZHl 100,253 135,951 235,698
O 22AZ22As51Y 2,172
0 43| 723%21,000kg 1,512
0 Qo= 440&*1,500kg 660
O dHlgEEHeld &l 457 34,222
0 32y 10,2302 2,080 £ 21,279
0 &t 350&*28,000 £ 9,800
0 JtdACH 7403%1,200 £ 888
0 gYE 22,5502%100 £ 2,255
O MHEE=HIE A3 6,179
0 &% 1,856& 1,000 £ *3& 5,568
0 2gR 2,0342 %100 £ *3& 611
O MplEEsHeIE2YeEY 54,380
0 e=sgel 24,2002 x800& 19,360
0 ot 24,2003 «800Z& 19,360
0 JtECIXIZH 8,070 &*400H 3,228
0 FHEH 13,2002 %504 660
0 pH &M 966, 0002 *2J4 1,932
0 MIIMESE ELIAMNE 3,000,000 *2J4 6,000
0 7+ S5EHZ 2,000,000 = 1CH 2,000
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5,500 & *6000H 3,300
306 =3 40,189 33,127 7,062
01 &3 40,189 33,127 7,062
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O MEEIISAAAIL DIl
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401 AIEHIZ20Hb] 271,224 181,080 %0, 144
01 Al 270,000 180,000 90,000
O FoI=sgy #33Y| 20,000, 0002 20,000
O A2AIE FEXIY KA 250,000,000 250,000
03 Al&S2CHE| 1,224 1,080 144
O A2AIE FHXIY KA 2THY|
170,000,000210. 72% 1,224
405 Xt S| 4,800 0 4,800
01 I SEH S| 4,800 0 4,800
O 228 AR FIIPY  1,200,0008#4% 4,800
AES| NP 66,425 54,420 12,006
2 3,073
= 2,400
2 60,952
FIMAE S U AZOIHIR 63,785 54,420 9,365
= 1,753
= 1,080
2 60,952
FIMAZSIA O AIEOIN PR 52,970 46,230 6,740
201 LBr2 | 19,530 12,790 6,740
01 AlR 22l 9,530 12,790 6,740
O gr2g| 12,460
SEASAANESETY  20,0008x1502 3,000
DERAAMALSTAARSR
80,0024 1224 90
0 ASBAL DIMSAAN 242 X2
85,00024+607H 5,100
0 AESOIY 2ARTHTY
6,0002%4Z+1003] 2,400
0 ORIIABRS Y 222 M
250,000 #4742 1,000
O SHI(AMLLET) 7,0002%301%702 1,470
O Sl AX 7Y 23
20,0002+ 1074 A#284 5,600
202 04| 7,200 7,200 0
01 =LHOIH] 7,200 7,200 0
O FIMARLB0IH| 200,00021+321+122 7,200
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SN EASIND
HE: AZ MDD
ol PIMAT SHA O AN (Sr9): 1)
. , - PSEL= =
S - BB O(B3H) - HRAY - BES Ofl b Gl Arod HRE2
= 7,080
= 1,080
301 LB FAS 2,160 0 2,160
2 1,080
= 1,080
1 olERaE 2,160 0 2,160
OAILIOIZAIR S| 2,160,002 2,160
2 1,080
= 1,080
N ENEE PR EDEE 2,640 0 2,640
2 1,320
= 1,320
N ENEEE DT 2,640 0 2,640
2 1,320
= 1,320
301 YA 2,640 0 2,640
2 1,320
= 1,320
IPIEEAE] 2,640 0 2,640
OOfRI0l DSR2l ZAIR BSH 2,640,002 2,640
2 1,320
= 1,320
HRES (227141 907,862 547,073 360,789
TESIERES 907,862 547,073 360,789
SENABRISHIN BE 907,862 547,073 360,789
701 JIEtE NSRS 907,862 547,073 360,789
01 JIEEINEES 907,862 547,073 360,789
O4EHAANLSHS HES 907,862
0.8 27| ZAI BRI 2 874,047,002 874,047
0.ASRESRoBD 26,775,002 26,775
0.F0IXI2AN BOF 2 0BXIR 7,040,000 7,040
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